‘ F CHILE
\7ALArrLi

ELECTRIC MOTORCYCLE

SWING ARM

ventas@talariachile.cl cel: + 56 9 9415 7593 @talariachie



‘F

CHILE

SWING ARM
Item Parte Ref. No. Descripcion Unit Qty. Precio (CLP)
1 40430-56001-002 Rr. Fork Assy. (normal black painting) Pcs 1 S 317.000
2 40436-56000-000 Chain Guide Holder Pcs 1 S 3.500
3 10438-56000-000 Screw GB/T70.2 (M6*10) Pcs 2 S 1.500
4 43010-56000-000 Chain Guide Pcs 1 S 12.500
5 10723-56000-000 Washer GB/T97.1 (M6) Pcs 2 S 1.500
6 10438-56000-000 Screw GB/T70.2 (M6*10) Pcs 2 S 1.500
7 10004-56000-000 Nut GB/T6170 (M6) Pcs 4 S 1.500
8 10132-56000-000 Bolt GB/T5783 (M6*40) Pcs 2 S 1.500
9 32315-56000-000 Rr. Wheel Fender Pcs 1 S 19.990
10 10723-56000-000 Washer GB/T97.1 (M6) Pcs 2 S 1.500
11 10438-56000-000 Screw GB/T70.2 (M6*10)) Pcs 2 S 1.500
12 43671-56000-000 Chain Tensioner Pcs 2 S 9.500

ventas@talariachile.cl

cel: + 56 9 9415 7593

@talariachie




